TRIGONOMETRIC FUNCTIONS

H G RADIUS AF =1
= SIN2 A + COSZ A = SIN A COSEC A
D = COS A SEC A = TAN A COT A
_COS A _ 1 _J1 o 2 A -
SINE A = &5% 2= cosEc & COS A TAN A =V - C0SZ A = BC
L _SINA__ 1 N 7 5 .
2 COSINE A =347 =gz = SIN A COT A V1-SIN2 A = AC
CSINA. 1 _
TANGENT A =25c—-=—sgt—5= SIN A SEC A = FD
C a COS A 1
COTANGENT A =3y = Tay &= COS A COSEC A = HG
CTAN A .1 _
A b C F SECANT A =<TN 7 ° Tos & = AD
_COT A _ 1 _
COSECANT A =G4 “ <IN & = AG
RIGHT ANGLE TRIANGLES
B a2 = 2 - p2
A b C c? = a2 + p?
REQUIRED
KNOWN A 5 3 b c AREA
a a ab
a,b TAN A :E TAN B 5 /a2 + p2 -
a a 2 - A2
a,c SIN A == |COS B =— [ c2 - g2 C‘JC%
o a a2 COT A
A,a 90 A a COT A SIN A —
o b b2 TAN A
90° - A _b° TAN A
A ,b b TAN A cos A >
A c2 SIN 2A
' C 90° - A c SIN A c COs A 7
OBLIQUE ANGLE _ a+b+c 2 _ b2 + 2 _ > b coS A
TRIANGLES B\ 72 o X X
a b2 = a? + ¢? - 2 ac COS B
_ [ (s-qa) (s-b) (s-C)
A b c\ & S c? = a?+ b2 -2 ab COS C
KNOWN REQUIRED
A B C b c AREA
1 _ K 1 _ K 1 K
a,b,c|TAN A =—= |TAN% B: —/5|TAN C: —— Js (s-a) (s-b) (s-¢)
SIN B a SIN C
a,A ,B o - Qg >IN B a SIN €
180° - (A+B) \ =T A SIN A
a.b . A b SIN A b SIN C
SIN A =—=— —<INg
_aSINC ab SIN C
a,b ,C [TAN A —m JGZ +b2 -2ab COS C f
TRIGONOMETRIC FORMULAS

FIGURE 1-6




